
COMPANY LOGO

Deck
Fittings

Daggerboard friction pad - 260181.
Friction pad screws (2) - #10 X 1 1/2in Phillips2.
Hiking strap plate - 260513.
Plate screws (2) - #10 X 1 1/2in Phillips4.
Mainsheet eyestrap - 600475.
Mainsheet block - 669696.
Mainsheet block spring - 601127.
Hiking strap - R1290178.
Vang plate - 260379.
Vang plate rivet (4) - 3/16 in x 1/2 in stainless 10.
Vang complete - 2604011.
Vang upper block w/ key - 2611312.
Vang lower block - 6013313.
Vang key - 6696414.
Vang base - 2604215.
Vang Pin (attaches vang to tang) - 6036316.
Boweye fairlead - 2604317.
Boweye fairlead screw - #10 X 1 1/2in Phillips 18.
Harken deck cleats - 2604819.
Deck cleat screws - #10 X 1 1/2in Phillips 20.
Deck block assembly - 2604621.
Deck block - 2119922.
Deck block plate - 2604523.
Deck block screw - #10 X 1 1/2in Phillips24.

ILCA Parts Guide 

ZIM ILCA Parts Guide - Starting Line Sailing

Overview: 
LOA: 13ft 9in
Beam: 4ft 7in

Weight: 130 lbs
Rig size options

ILCA 7 (standard)
ILCA 6 (radial)

ILCA 4 (4.7)

https://westcoastsailing.net/ilca-laser-daggerboard-fricton-pad-mk2/
https://westcoastsailing.net/ilca-laser-daggerboard-fricton-pad-mk2/
https://westcoastsailing.net/ilca-hiking-strap-plate/
https://westcoastsailing.net/ilca-hiking-strap-plate/
https://westcoastsailing.net/eyestrap-regular/
https://westcoastsailing.net/eyestrap-regular/
https://westcoastsailing.net/harken-2165-57mm-ratchamatic-block-swivel-1-5x-grip/
https://westcoastsailing.net/harken-2165-57mm-ratchamatic-block-swivel-1-5x-grip/
https://westcoastsailing.net/mainsheet-spring/
https://westcoastsailing.net/mainsheet-spring/
https://westcoastsailing.net/ilca-boom-vang-plate/
https://westcoastsailing.net/ilca-boom-vang-plate/
https://westcoastsailing.net/ilca-vang-upgrade-harken-xd/
https://westcoastsailing.net/ilca-vang-upgrade-harken-xd/
https://westcoastsailing.net/vang-becket-block/
https://westcoastsailing.net/vang-becket-block/
https://westcoastsailing.net/harken-16-mm-double-block-w-becket-h407/
https://westcoastsailing.net/harken-16-mm-double-block-w-becket-h407/
https://westcoastsailing.net/ronstan-ilca-vang-key-curved/
https://westcoastsailing.net/ronstan-ilca-vang-key-curved/
https://westcoastsailing.net/ilca-vang-upgrade-harken-base/
https://westcoastsailing.net/ilca-vang-upgrade-harken-base/
https://westcoastsailing.net/clevis-pin-1-4-x-1-2-inch/
https://westcoastsailing.net/clevis-pin-1-4-x-1-2-inch/
https://westcoastsailing.net/ilca-bow-eye-fairlead/
https://westcoastsailing.net/ilca-bow-eye-fairlead/
https://westcoastsailing.net/ilca-deck-cleat-plate-harken-blocks/
https://westcoastsailing.net/ilca-deck-cleat-plate-harken-blocks/
https://westcoastsailing.net/ilca-deck-block-plate-harken-blocks/
https://westcoastsailing.net/ilca-deck-block-plate-harken-blocks/
https://westcoastsailing.net/harken-16mm-single-forkhead-block-h376/
https://westcoastsailing.net/harken-16mm-single-forkhead-block-h376/
https://westcoastsailing.net/ilca-deck-block-plate-only/
https://westcoastsailing.net/ilca-deck-block-plate-only/


Hull &
Deck
Fittings
(continued)

ZIM ILCA Parts Guide - Starting Line Sailing

Hiking strap eye straps (2) - 600471.
Eyestrap screw (4) - #10 X 1 1/2in
Phillips

2.

Cockpit bung - 21187 3.
Cockpit bushing assembly - 211584.
Traveler cleat - 668265.
Traveler cleat screw (2) - #10 X 1 1/2in
Phillips

6.

Hiking strap adjuster – 411687.
Grabrail* - 213658.
Grabrail screw (5) - #10 X 1 1/2in
Phillips

9.

Grabrail captive nut (5) – 6002910.
Daggerboard - 2601611.
Daggerboard stop set – 2601912.
Autobailer (not pictured) - 2605413.

https://westcoastsailing.net/eyestrap-regular/
https://westcoastsailing.net/eyestrap-regular/
https://westcoastsailing.net/laser-cockpit-bung/
https://westcoastsailing.net/laser-cockpit-bung/
https://westcoastsailing.net/ilca-laser-cockpit-drain-bushing-assembly/
https://westcoastsailing.net/ilca-laser-cockpit-drain-bushing-assembly/
https://westcoastsailing.net/ilca-laser-cockpit-drain-bushing-assembly/
https://westcoastsailing.net/clam-cleat-with-becket-cl704/
https://westcoastsailing.net/clam-cleat-with-becket-cl704/
https://westcoastsailing.net/ilca-laser-plastic-grabrail-3-piece/
https://westcoastsailing.net/ilca-laser-plastic-grabrail-3-piece/
https://westcoastsailing.net/laser-ilca-grabrail-captive-nuts/
https://westcoastsailing.net/laser-ilca-grabrail-captive-nuts/
https://westcoastsailing.net/ilca-daggerboard-grp/
https://westcoastsailing.net/ilca-daggerboard-grp/
https://westcoastsailing.net/ilca-daggerboard-stop-set/
https://westcoastsailing.net/ilca-daggerboard-stop-set/
https://westcoastsailing.net/ilca-autobailer-assembly/
https://westcoastsailing.net/ilca-autobailer-assembly/


Transom
& Rudder

ZIM ILCA Parts Guide - Starting Line Sailing

Gudgeon (2) - 260561.
Gudgeon screw (8) - #10 X 1 1/2in Phillips2.
Rudder clip - 228853.
Rudder clip screw (2) - #10 X 1 1/2in Phillips4.
Drain plug - 600405.
Drain plug screw (2) - #8 X 1 in Phillips6.
Rudder Assembly, Complete - 262397.
Rudder head - 260218.
Rudder head bolt – 260229.
Rudder bolt nut - 3/8in locknut10.
Rudder bolt washer - Nylon 3/8in11.
Rudder blade - 2602012.
Tiller, carbon - 2664213.
Tiller universal (not pictured) - 6012414.
Tiller extension (not pictured) - 2664115.
Traveler fairlead (2) - 2604416.
Traveler fairlead screw (4) - #10 X 1 ½ in
Phillips

17.

Fairlead nut - 4107018.
Traveler block – 2647319.

https://westcoastsailing.net/ilca-gudgeon/
https://westcoastsailing.net/ilca-gudgeon/
https://westcoastsailing.net/laser-ilca-rudder-lift-stop/
https://westcoastsailing.net/laser-ilca-rudder-lift-stop/
https://westcoastsailing.net/drain-plug-beckson/
https://westcoastsailing.net/drain-plug-beckson/
https://westcoastsailing.net/ilca-laser-rudder-assembly-complete/
https://westcoastsailing.net/ilca-laser-rudder-assembly-complete/
https://westcoastsailing.net/ilca-rudder-head/
https://westcoastsailing.net/ilca-rudder-head/
https://westcoastsailing.net/ilca-rudder-mega-bolt/
https://westcoastsailing.net/ilca-rudder-mega-bolt/
https://westcoastsailing.net/ilca-rudder-blade-grp/
https://westcoastsailing.net/ilca-rudder-blade-grp/
https://westcoastsailing.net/dwyer-carbon-ilca-laser-tiller/
https://westcoastsailing.net/dwyer-carbon-ilca-laser-tiller/
https://westcoastsailing.net/omniflex-tiller-joint-universal/
https://westcoastsailing.net/omniflex-tiller-joint-universal/
https://westcoastsailing.net/dwyer-ilca-laser-carbon-tiller-extension-50in/
https://westcoastsailing.net/dwyer-ilca-laser-carbon-tiller-extension-50in/
https://westcoastsailing.net/ilca-aluminum-fairlead/
https://westcoastsailing.net/ilca-aluminum-fairlead/
https://westcoastsailing.net/ilca-traveler-block-allen/
https://westcoastsailing.net/ilca-traveler-block-allen/


Boom
Gooseneck - 260321.
Gooseneck rivets (6) - 3/16 in x 1/2 in stainless 2.
Gooseneck bolt – 1/4in x 1in Hex Head 3.
Vang tang - 260334.
Tang rivet (4) - 3/16 in x 1/2 in stainless 5.
Boom complete - 260026.
Boom eyestrap (2) - 212177.
Eyestrap rivet (2) - 3/16 in x 1/2 in stainless 8.
Outhaul cleat - 600309.
Outhaul cleat rivet (2) - 3/16 in x 1/2 in stainless 10.
Outhaul fairlead - 2604411.
Fairlead rivet (2) -  3/16 in x 1/2 in stainless 12.
Boom endcap - 2602913.
Clew strap - 4172914.
Boom block w/ becket - 2647115.
Boom block - 2647216.
Boom gooseneck end cap – 2603617.
End/Base cap rivet - 3/16 in x 1/2 in stainless 18.
Clew shackle – 2118319.
Boom webbing strap – 2603820.
Webbing strap rivet - 3/16 in x 1/2 in stainless 21.

ZIM ILCA Parts Guide - Starting Line Sailing

https://westcoastsailing.net/ilca-mast-gooseneck/
https://westcoastsailing.net/ilca-mast-gooseneck/
https://westcoastsailing.net/ilca-mast-vang-tang/
https://westcoastsailing.net/ilca-mast-vang-tang/
https://westcoastsailing.net/ilca-boom/
https://westcoastsailing.net/ilca-boom/
https://westcoastsailing.net/eyestrap-boom-blocks/
https://westcoastsailing.net/eyestrap-boom-blocks/
https://westcoastsailing.net/clam-cleat-aluminum-cl221/
https://westcoastsailing.net/clam-cleat-aluminum-cl221/
https://westcoastsailing.net/ilca-aluminum-fairlead/
https://westcoastsailing.net/ilca-aluminum-fairlead/
https://westcoastsailing.net/ilca-top-section-boom-end-plug/
https://westcoastsailing.net/ilca-top-section-boom-end-plug/
https://westcoastsailing.net/rooster-ilca-laser-clew-strap/
https://westcoastsailing.net/rooster-ilca-laser-clew-strap/
https://westcoastsailing.net/ilca-boom-block-w-becket-allen/
https://westcoastsailing.net/ilca-boom-block-w-becket-allen/
https://westcoastsailing.net/ilca-boom-block-allen/
https://westcoastsailing.net/ilca-boom-block-allen/
https://westcoastsailing.net/ilca-boom-gooseneck-plug/
https://westcoastsailing.net/ilca-boom-gooseneck-plug/
https://westcoastsailing.net/laser-clew-shackle-w-block/
https://westcoastsailing.net/laser-clew-shackle-w-block/
https://westcoastsailing.net/ilca-boom-webbing-strap/
https://westcoastsailing.net/ilca-boom-webbing-strap/


Masts,
Sails,
&
Access
ories

ZIM ILCA Parts Guide - Starting Line Sailing

Upper mast - 259961.
Composite upper mast - 25997 2.
Lower mast 6 - 259993.
Lower mast 6, composite - 259784.
Lower mast, 4 - 259985.
Lower mast 7 - 260016.
Top bottom cap - 260317.
Top end cap - 260298.
Top 6 composite end cap - 266389.
Connector sleeve - 2603010.
Lower bottom cap – 2603411.
Lower 6 composite bottom cap -26035  12.
Sail 7, Hyde - 2600513.
Sail 7, North - 2600814.
Sail 6, Hyde - 2600415.
Sail 6, North - 2600716.
Sail 4, Hyde - 2600317.
Sail 4, North - 2600618.
MK2 battens (7 sail) - 2601219.
MK1 battens (4 & 6 sails) - 2601420.
Dynamic dolly - 1514521.
Telltales - 6047422.
Teflon ware strips - 2126423.
Teflon ware disc – 4173024.
Blade bag - 2116825.
Spar bag - 2265626.
Deck cover - 2121027.
Hull cover - 2124328.

https://westcoastsailing.net/ilca-mast-top-section/
https://westcoastsailing.net/ilca-mast-top-section/
https://westcoastsailing.net/laser-ilca-composite-mast-top-section/
https://westcoastsailing.net/laser-ilca-composite-mast-top-section/
https://westcoastsailing.net/laser-ilca-composite-mast-top-section/
https://westcoastsailing.net/ilca-6-lower-mast-section/
https://westcoastsailing.net/ilca-6-lower-mast-section/
https://westcoastsailing.net/ilca-6-laser-radial-composite-lower-mast-section/
https://westcoastsailing.net/ilca-6-laser-radial-composite-lower-mast-section/
https://westcoastsailing.net/ilca-4-lower-mast-section/
https://westcoastsailing.net/ilca-4-lower-mast-section/
https://westcoastsailing.net/ilca-7-lower-mast-section/
https://westcoastsailing.net/ilca-7-lower-mast-section/
https://westcoastsailing.net/ilca-top-section-base-plug/
https://westcoastsailing.net/ilca-top-section-base-plug/
https://westcoastsailing.net/ilca-top-section-boom-end-plug/
https://westcoastsailing.net/ilca-top-section-boom-end-plug/
https://westcoastsailing.net/ilca-composite-top-section-base-plug/
https://westcoastsailing.net/ilca-composite-top-section-base-plug/
https://westcoastsailing.net/ilca-top-section-connector-sleeve/
https://westcoastsailing.net/ilca-top-section-connector-sleeve/
https://westcoastsailing.net/ilca-lower-section-base-plug/
https://westcoastsailing.net/ilca-lower-section-base-plug/
https://westcoastsailing.net/ilca-6-lower-section-base-plug/
https://westcoastsailing.net/ilca-6-lower-section-base-plug/
https://westcoastsailing.net/ilca-7-sail-mk2-hyde/
https://westcoastsailing.net/ilca-7-sail-mk2-hyde/
https://westcoastsailing.net/ilca-7-sail-mk2-north/
https://westcoastsailing.net/ilca-7-sail-mk2-north/
https://westcoastsailing.net/ilca-6-sail-hyde/
https://westcoastsailing.net/ilca-6-sail-hyde/
https://westcoastsailing.net/ilca-6-sail-north/
https://westcoastsailing.net/ilca-6-sail-north/
https://westcoastsailing.net/ilca-4-sail-hyde/
https://westcoastsailing.net/ilca-4-sail-hyde/
https://westcoastsailing.net/ilca-4-sail-north/
https://westcoastsailing.net/ilca-4-sail-north/
https://westcoastsailing.net/laser-ilca-mk2-batten-set/
https://westcoastsailing.net/laser-ilca-mk2-batten-set/
https://westcoastsailing.net/ilca-batten-set/
https://westcoastsailing.net/ilca-batten-set/
https://westcoastsailing.net/laser-dolly-dynamic/
https://westcoastsailing.net/laser-dolly-dynamic/
https://westcoastsailing.net/ronstan-tell-tales/
https://westcoastsailing.net/ronstan-tell-tales/
https://westcoastsailing.net/laser-mast-wear-strips/
https://westcoastsailing.net/laser-mast-wear-strips/
https://westcoastsailing.net/laser-ilca-mast-teflon-disc/
https://westcoastsailing.net/laser-ilca-mast-teflon-disc/
https://westcoastsailing.net/laser-blade-bag-north/
https://westcoastsailing.net/laser-blade-bag-north/
https://westcoastsailing.net/laser-ilca-spar-bag-fast-canvas/
https://westcoastsailing.net/laser-ilca-spar-bag-fast-canvas/
https://westcoastsailing.net/laser-cover-deck-north-gorge-series/
https://westcoastsailing.net/laser-cover-deck-north-gorge-series/
https://westcoastsailing.net/laser-cover-hull-north-gorge-series/
https://westcoastsailing.net/laser-cover-hull-north-gorge-series/

